LN By

/, N I

- 5. 33;; ,

s Deo S’J/‘{/ SG Harzd
o /
Ol mF <,

27
" 7

Vi,

+~
v I
O ‘?44!7(42""1_"' Kle.gg 2

Es1 2 A —

e = ﬁrmﬁﬂ@w— )» -

5%y +)

o sl late) L%
JH(&\J

Mo = nyoé)tiz:.

[ }‘2 = % Ib ?2 [ T .1..
e = 90%? /—“ 210 {
U

.E.-——ﬂ—

.,,_.-—-—""’—"' o

. }‘f‘\ -‘?jx/oxg)\r’\' ’[egé)do{)z_
O S - ‘-“—‘af)&%?/’-\ml

l/.‘
B, M‘z )(/Q y;D 9‘;1 LD
o

/

= -9 '{Aﬂb /l&f = _SAB

Ap - zde

[ ﬁ.._éX)Z .L__n?‘ X /g /?[‘ﬂ//g ﬂd‘? = /D “}?:3“/(

C7¢) -

523)’[;/’ 52 -—é'//’f-




New o tWJM &aﬁtw

1 ~—>°g/;1,{) 5)

K e R
L = ¢ ) L=_1598" = |.4914H
e &y e
= i e 3
- - é; = 207 m F
i o= 61 P

e = 1+ &Y : {f g s Lacfuc]

I+ = *5

QXp  J2p*

l+\_[5,5+‘82

]

~Jodb = O

= 7

TR T o

| +2j 2 ~ ST |

2z 3 edfse




—3%_ _Loro pars &2 el 17 £ Tj’?m»g{\gbm_

T ] t]
_ - P S = L\?,.g ' \Qrﬂ IT et Yiee é,q,g,_?&Wo: c:fj a@xﬁ,;?
‘\Jf? = 1om -)%) = )zaa{/ﬂﬂ& :

mjgég);- AN :_wizé;;ﬂﬂjm;__m_

- ,'f” \}5 % ‘f’s ] e 3 _)? 07, Wl
- Ly

a7 = ey

__H1s) )
[+2 /o Y\ /[D/f;/ 2

) R G 95
- LWaz Wp 2 1M andfs i j.,,mL ’ e actida } <)
P ,() Wr«wuytj?
R K = \/1"!:1_ . o _
-1
L amh = £ =iy = 7eruF
< T
& = 207mF = Ly = _1 = /49% mM
B B R S
Loz 6 dwF = L, F OlbhamH
-~ =172
o Tt/ cuunce ézaj;c@f VVVVV
_ - 2 = «R [« 2 (107) =15
4

|
™
.
\J
56
N
?
xR
\r

o _ L, - |
I
o L, = g wmH - i é L___
o Vi oy SF
7 - L I i -




“—_ 2- |
! - 2 & s E
bpe = 12p, 22d,
\J p,. LOPZ o M 7 &MH
| 7 — = & ra
~ L2 i ” | szﬁ — |
E - N V23 1
/ —h
(& -
L. = -




] oz (B ne)) U= n ,L,Q&Ar"’/u
B o P08, .
. - & s G = 0.334F )
S 2
I NV Py c_-,,’) L= I SuH (2 =309, 7
R o E ) e odo@ No) o=
e LN EUIE . 2 A
e = O &lspr” N e
Iy edgen . Mo _5_4 Wi, 2= 1 ()
5—, 9’/"' “2"“&; ‘
B R £9W v 3;6—,,,,&.51 = /4g.9 M oy T 509'4;;:::3’/5
_ o G110 ] zizodﬁ_(wn = 1ot nedse)
. oz o, = 0wy = ([10M)° = 95245 pagfs

L



LP — BR  Eromnsigommn

W+ 5%

. sz_ B e N N Wiy - ws®)  edp-sdm
b g2 BXNAM Ay = B Masgfe .
|
- ’ 7 - 7 -
L = (tue ) L =t3,3 [ = T 5un )
b
] - o e o S
— & = | = Jﬁh_‘_ﬁ ol —
Jep Al ‘
£,z ( A}’Mﬁ) e e = J4.5p N o
| ﬂp%f_’;
o el B Ap 2y = ‘717 éfF .
W, *
(o= rest) 4& IS3GwH
o x'= 8.7 wm F ) o
,,,,, Lofee d om e 5{5_&4359 S
b B R e (100) x=et
= (195 an /o‘"\ 44 pH ] _
- =2 )9 MIbpF L)'= 950.6 wH

oy = f;j;;f B MxioM = {]/17*32&0//5 e

v
= Y19. /= 9 >
i e ) Ll=dShun  Gl=8bpE




L’ :’-"
o o] ) _
TN { H—— J e v
- L o=t J o B
o ) %
- £ e
R _ £ B
| Pesbad odge | L
o ol eop Py = 8 = 5 7M B o
S \,/29;;:’;’ “n = TH 2ad/s . |
solhe b ok £2p) = & 5 9l acag{ S ”f”? = £ 5N ,;;4,414
S @__CLMM/'< /H(”"’D}j: /Hn:;/@%@_)#fﬂ Gy -G 4 -
ggggg A A Y -2
] b"’l’ |+ _é_ﬂ e \sz. B
| il e
. : ‘ ¥
- . Tse — (% ) +" 530) 2.-'___3 o N
R T &— Dy e >~ _LEC— B
o Tole _atpub ot sutpuls o $i%et  ofpnis
F Y -y
o =
o e
N N - SST= E—
- [ 1 . 1 =
R G 1IN o
™1 | +
- “x Vi D J 272 ﬁf —/ —ﬁ/




o M Jzaa//_g

(2P = /l/ =
C = |pp ) E 2 L Jef2
g L Pg R L

\

2y B = Joe R = M 2.

F—%W [

B E— 5/@

<ealing ngwmmj o

——
-

o

|
|
!

lvp M e I()ﬂ’l Xﬁg/ﬂ /}; -

/

<

—
—— —_—

thb rélg
/

01 8] pytt

gF =0, w’f

775

/ —
= 0.@5',; =

! /= = A F"-
_ ] s 2.94 fﬁ}f} 8L 12
— T 1 L' — -

s onn | i s %::m——‘ e e —_ e —
: V{: JI’J
I =g 1 =5 -

i L e’ AT
Le E’éf” ?zae);
- —LI L e

—+




